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2 10 L 1352 10
8 18 0. 49 18
13 50 0. 50 50
30 L 20

14 75
10 2. 50
19 2 502 0. 2 766 1 800
18 2 000 0. 3 417 2 000
1 103 6 4 0. 48 46
1163 2 107 0. 1537 1 505
6 060 48 0. 54 48
4 040 48 0. 2 000 486
1 662 0.5 2 164
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18-8-25BB t=10¢& (0.30.p02x 562 = 148. 18
W=2.65m
18-8-258B8 t=Aog 20 x 20 = 400 40
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18- 8- 25BB t =10cm

= 1000 x 0.01 = 1.00 1.00
(18-8)25BB
t =1n® c
= 5602+ 1000 10m = 5.00
t=10em2 .56 x 0.01 «x 5.00 = 1.33
1.33 + 1480 9 1000 10m2 = 0.9 0 .90
= 5602 2 .00 2m = 2800
( Vo5 D = 2800 x 0.01 = 2.08
L=1n® c 2.08 + 148. 9 1000 120m2 = 0.91 0.91
= = 2800
(0x@.)2 = 2800 x 0.02 «x 0 .02 = 1.21
1.21 + 1480 9 1000 10m2 = 0.80 0 .80




(10mz2

18-8-25BB t =10cm

10m

= 1000 x 0.01 = 1.00 1
(18-8)25BB
t =1n® c
= 2000+ 1000 10m = 2.00
t=10em2.00 x 0.01 «x 2 .00 = 0.04
0.04 + 4000x 1000 120m2 = 0.01 0
= 2000 x 0.01 «x 1.00 = 2.00
2.00 + 4000x 1000 120m2 = 0.05 0
= 2000 2 .00 2m = 1000
( Vo5 D = 1000 x 0.01 = 1.00
L=1n® c 1.00 - 4000x 1000 10m2 = 0.52 0
= = 1000
(0x@.)2 = 1000 x 0.02 «x 0 .02 = 0.04
0.04 + 4000x 1000 120m2 = 0.01 0
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